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2.15 Calculate v and i, in the circuit of Fig. 2.79.

1{)\;@) 4V 3

Figure 2.79
For Prob. 2.15.
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2.17 Obtain v, through v; in the circuit of Fig. 2.81.

L .

lop)
24V @);3:2 {..-,,:: §}. Ci 10V

Figure 2.81
For Prob. 2.17.
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2.19 From the circuit in Fig. 2.83, find 7, the power
dissipated by the resistor, and the power supplied by
each source.
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Figure 2.83
For Prob. 2.19.
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gpply Ss-v. L
— 5S4+ 22l + 5l = o
Lo = 24
R1
® pr1 220
V1
— 54V

Figure 2.84
For Prob. 2.20.
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2.20 Determine i, in the circuit of Fig. 2.84.
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2.30 Find R, for the circuit in Fig. 2.94.

Figure 2.94
For Prob. 2.30.
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200v(¥)

Figure 2.95
For Prob. 2.31.
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_ 3Q DC 1e-0090hm

DC 1e-0090hm

5 e 10
— 200v s
DC 1e-0090h
DC 1e-0090hm
DC 1e/0090hm
: =

2.41 If R, = 50 () in the circuit of Fig. 2.105, find R.

10 Q éR

Ry 12Q %129 12Q
— 60 Q

Figure 2.105
For Prob. 2.41.
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2a ¥ 24 £+ 2083 = /4 % bo L Lo )3

g = 446 — 4 L

4 6

100 Re )
160
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2.46 Find I in the circuit of Fig. 2.110.

20 Q 150
A AMAN
I 12Q
A
50 o
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15Q
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80
A

Figure 2.110
For Prob. 2.46.
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2.55 Calculate /, in the circuit of Fig. 2.119.
—_—
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20 Q
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Figure 2.119
For Prob. 2.55.
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DC 1e-0090hm DC 1e-0090hm

U4
DC 1e-0090hm

3.9 Determine [, in the circuit in Fig. 3.58 using nodal
analysis.

24\/@) 50 Q %1509

Figure 3.58
For Prob. 3.9.
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2 4 -V

5(0-24)-}- 391/4-/0([/— bo ¥ = )__o

_ poo %2 Y

bV 3oV lov 4 £22y + 6 ¥ 24
1250 250
V= 4745
Ty = 24=-9785 _ 35 3451274 = 29.34m 4
2505

3.19 Use nodal analysis to find v, v,, and v; in the circuit
13} of Fig. 3.68.
ML

I &

sa® 5o

Figure 3.68
For Prob. 3.19.
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3.20 For the circuit in Fig. 3.69, find v, v,, and v; using
nodal analysis.

4 20 U3

o @ AV (i

§4Q ng §4Q

Figure 3.69
For Prob. 3.20.
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